
INSTALLATION INSTRUCTIONS

APPLICATION: 2007 CHEVY SUBURBAN;
2007 CHEVY TAHOE;
2007 CHEVY AVALANCHE

QTY HARDWARE CONTENTS

V-5740 Revision A  09/10/07(1 of 1)

FIGURE 1 - O.E. Plastic Shroud

PRODUCT INSTALLATION:

1. Verify all hardware contents listed above are present. Carefully read all Instructions before installing.

OPTIONAL: Using factory instructions, remove OE Grille to install Billet Grille. 

2. Open hood and carefully remove OE plastic shroud to gain access behind OE Grille.

NOTE: Do not discard OE hardware, needs to be re-installed. SEE FIGURE 1

3. Position the larger Billet Grille insert (Bottom) over existing OE grille and insert 8 M4 x 25mm screws through existing

holes on Billet Grille. From behind the OE grille, loosely fasten all screws using 8 metal brackets and 8 M4 flange nuts.

NOTE: The metal brackets and flange nuts are attached from behind the OE Grille.

Repeat step 3 on the Top Billet Grille insert. SEE FIGURE 2

4. Align Billet Grille and secure all fasteners starting with the center sections. Re-install plastic shroud removed in step 2. 

NOTE: DO NOT OVERTIGHTEN HARDWARE.

BILLET GRILLE

VERTICAL 34-5740

1 BILLET GRILLE

12 M4 x 25MM PHILLIPS SCREWS

12 M4 FLANGE NUTS

12 METAL BRACKETS - FLAT

FIGURE 2 - Billet Grille Insert/Bottom

TOOLS REQUIRED

Phillips Screwdriver

7mm Wrench

Thank you for choosing Westin Products.  For additional installation
assistance please call Technical Support 800.793.7846


